ﬁ/ &@ @ 0 Férenkling av polynom

namn: Datum: Poéng:
6x — 8x + 3(6x° — 3x%) + 8x 20 = x* = 3x+ 32— 7xH)
3% — T —4x - 2(2)62 + 3x2) Ox + 4x° — x — 4(5x2 + 6x2)
9x% + 75 — 2x — 4(9%° + 8x?) 2% + 7% + 2x + 4(Tx° + 6x)
4o —9x+ 2(6x + x2) Ox — 4x> — T + 4%’ — 3x
20 = 3%) + 6x% — 3% — 9x° T = 3x% + 32 + %) — 4x°
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b &Y

Forenkling av polynom

namn:

6x — 8x + 3(6x° — 3x%) + 8
18x° — 9% + 6x

3% = T — 4 — 2(2%° + 3x)
—4x3 — 14%°

0% + 7x® — 2x — 4(9%° + 8x?)
—52%% — 2x

X+ 9x° —9x+ 2(6x+x2)
10> + 202 + 3x

20 = 3x°) + 6x% — 3x2 — 9x°
—15%° + 5¢°

Datum:

26 — X2 = 3x+ 3(2x — 7x?)
2% — 22x% +3x

Ox+ 4x> —x— 4(5x2 + 6x2)
43 — 44x° + 8x

207 + 7x* + 2x + 4(Tx* + 6x)
37x% + 26x

Ox — dx° — 7 + 4x° — 3x
—7x* + 6x

T2 = 30 + 32 + 6x) — 4w
27 + 2257
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